1.

th2 19 AABC oA £2C =90° 4 T, sinA + tan A 9] ZS 5}
o2},

&



2.

tanA =4 4 o, sin? A — cos? A 9] k& FstolEk (H, 0° < A < 90°



3. o ™A x 9] ZolE Fstofzt




Al

%

filo

o= 271 & &
FaEAL.

rlo

H7]

@ 0°<A<45°¢
o], sin A < cos A

© A=45°Y 1,
sin A = cos A

© 45°<A<90°¥Y
o, 1 <tan A

L

O




5.

thS 2FolA £C = 90° ¥ W, sinA +
cos A 9] 415 ot}

D L
2%







oS I A cosA =

Lolg Fatolel.

o]17, BH =3, AH =4 ¥ 1 , AC 9

4
5




B

---JH




oF& 4] ghe?
1
3 tan 45° — 32 cos 60° + V3 sin 60°

4-342 44342
2 2

® o0

D1 @
4-342
® 3




W
~
m
o
N
=
Al
mE
o
=
ﬂo
m_n.o
ol
0
[
o]
W oo
N
O
—~ o
[
L e
o~ ho o
[
-~ -
ARy
SO
=

[t

@ sinA

2
)

@ sin A - cos A

@ tanA =2

® tanA



=BC

@ cosC

=DE

@ tan A

BC

AB

@ sinA

@ sinC

= DE

® cosA



)
o
ko
3
I
lo,
Fl
i
H
R
>
>
oo
Q

2,
>
=

1o

=

filo

-

_O'lt‘

13}

D

Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



13. ©hS 123} Zo] AB 7F #1291 8H O
B _
oA BB o) 2ro aatefe).
tan A




12
14. tanA = = A off, 13sin A —26cos A ] F27 (HF,0° <A <90°)

@ 2 @ 3 ® 4 @ 5 ® 6



15. /B =90° % 274748 ABC °|A sinA = % A off, tan(90° - A)

O] Zr22(H, 0° <A <90°)



16. o2 18I AC =10, AB=12, /A = C
60° < m, BC 9] dol& Fsfof=t.

D2Vl @ 2V1iT ® 2421 @ 229 ® 2431



17. o P93} 2 AABC °f|A] sinx X cos x X tan x 2] ZF2 +5Fo] =t




7
1 EG

welo] ojzh4
CE 9

in x
o o, sin

g A& x
] ZCEG
o|F o 7 2+

o 3

=7

@ 3a

® V2a

S

<



19. sin3x=cos45° & o, x o] Z2? (HF, 0°<x<90°)

@® 15° @ 20° ® 25° @ 30° ® 35°



20.

o2 133} Zo] /A = 45° , BC = 5em
2l AABC 9] 21H < O 9] gtz]&9] Zo]

=7

@® ﬂcm @ 3v2cm
v

® 5Tcm @ 5v2cm

e V2 .

2




21. oe 1394 LABC = /BCD = 90°, /BAC = 60°, /BDC = 45°,
AB= V34,
BD? of 3429

@ 5 @ 9 ® 12 @ 15 ® 18



22. o5 9" Zo] a3 9o ¥9H 0 E FAHO=E ot whA]
Z1o]7} 1 ¢l AFEY oA sin 50° + tan 50° — sin 40° 9] ZE29

(il

94

y
1,20 Y
1
A
0.77
50° B D
@) 0.64 1 T

D 0.21 @ 0.64 ® 1.07 @ 1.33 ® 2.61



23. sin(2x + 30°) = cos(3y — 45°) & W, 4x —y 9] &S FSHH? (H,
0° < x<30° 15° <y <45°)

@® 0° @ 5" ® 18° @ 30° ® 45°



B _
24. sin(3A-45°) = cos (5 + 15°> A o], tan A xtan B ] gH-& 4-o14A?

(, 15° < A < 45°, 0° < B < 90°)

@ o @ -1 @1 @ -2 ® 2



25.

Az

o}

< | 5 B3l cos10°—tan 10°+2sin 10°x tan 50° 9] &<
tde BAR A T34

® 1.15

Zte sin cos tan
10° 0.17 0.98 0.18
35° 0,57 0,82 0.70
50° 0.77 0.64 1.20
@ 117 ® 1.19 @ 1.21

® 1.23



